Practice Test: Trigonometry

FMP10 Trigonometry Practice Test Name:
/48

1. Determine the length of CB, then determine each ratio. Reduce to lowest terms, if possible. [5]
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2. Calculate the measure of 8, to the nearest degree. [6]
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3. Calculate the length of x, to the nearest tenth. [6]
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4, Solve each triangle. Show how you got each answer. Round each angle to the nearest degree
and each side length to the nearest tenth. [9]
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5. Determine the height of the building on the left, to the nearest tenth of a metre. [4]
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The height of the buildw';j is 110.8m.

6. A surveyor is positioned 30 m from the base of a tree. She uses an inclinometer to determine
the angle of elevation to the top of the tree is 28°. How tall is the tree, to the nearest metre, if the
inclinometer is positioned 1.5m above the ground ? Include a diagram with your solution. [4]
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7. A pilot in an airplane 600 m above the ground must descend onto a runway which is a
horizontal distance of 2 km away. What is the angle of depression, to the nearest degree, from
the pilot to the beginning of the runway? Include a diagram with your solution. [4]
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The angle of depression is 17°.

8. Amber and Joey are looking up at their school. From Amber’s point of view, the top of the
school is at an angle of elevation of 48°. From Joey’s point of view, directly closer to the school, it
is 68°. The school is 30 m high. How far apart are the students, to the nearest tenth of a metre?
Include a diagram with your solution. [4]
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9. Is it possible for a cosine ratio to be greater than 1? Justify your response. [2]

No, the cosine ratio is never 9rea+6r than 1 since
the hypotenuse 1s never shorter Han the ad jacent
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